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Etvou

F2 ()07 (X) =X = 052 (1) + ¢ (1) =T =0 = g7 (1) =1’ [g(1) =1

Omnote

£2(x)+9%(x)—x? =Onapayuzw>i€wp22f (x)-f'(x)+2g(x)-g'(x)—2x _05

f(1)=0
g(1)=1

= 2 (1)-F/(1)+29(1)-g'(1)-2-1=0 = 2¢'(1)=2=[g'(1) =1

mapoymyilovpe

f(xz)zx3 = f(x)-2x=3x (1)

Omnote

(1)X:=>1f’(12)-2-1=3-12 =2-f'(1)=3= f'(1)=§

Axoun

=N 2 : o B[ 32
(H)=f (\E )-2-\/§=3-\/5 =2.\2f'(2)=6=1 (2)=m:> fr(2) =22

Eivou

£7(x) =2 (x)-F'(x) > £(0) =2 (0)-F(0) = £(0) = (-1)* -1 =[F"(0) =1

Omote

£1(x)=F2 (x)F (X)o7 (x) =26 (x)-[F(x) ] +F2 (0) 7 (x)>

=[f"(0)|=2f (0)-['(0)]" +f2(0)f"(0)=2-(~1)-12 +(-1)* 1=—2+1=[1]
sy

Eivan

£ (3) =07 (X) + X =0 £ (0)=g7 (0) +0=0'=> £*(0)=1= [f (0) =1

Omnote

mopayeyilovpe

P(x)-0° (x)+x=0"" = 3F(x)-F'(x)-29(x)-'(x) +1=0=

, 001 1
=3f2(0)-1'(0)-29(0)-g'(0)+1=0" = 3f(0)-2+1=0='(0)=¢

Etvon




g(x 9% (x)

Omndte
¢ (p)=0:>f (p) g(gzzpf)(p)'g (P) gy (p)-g(p)-f(p)-g'(p)=0=

£ _¢ g((‘;))i%s g(p)=0=1"(p)=0 f’(p) ) f(p) <P(p)=%
=(p)-2(p)=1(p)-g'(p = T =
ooy f(P)

" 50)

1541 6)

Eivan
g(x)=(x+1) ()= g (x) = 2x-F(x) + (7 +1)77(x)
Ondte

g(x)= (x +1) "(x)

g'(x) _f7(x) [ 2% £ (x) + (¢ + 1T (X) £ (x)

a(x) f'(x) (x +1)f’(x) _f'(x)
2X'% M‘w(x) f'(x) 2x f” (}()/ 2X

f’
(x2+1)f/'€>(f x21)f'(x) f’(x) X211 (x) (x) |x*+1
1541 7)

o (i) :g( ):e (In)) _ g(lz):> ef© :g(l)

f(Inx) _ P i Hnx)g 7 (| 1 2).o X1
e g(x’) = e (nx)x g'(x*)-2x=
ef(°)=g(1) g(1)=ef(°)¢0

—e '“1f(ln1)% g'(1*)-21=e"f'(0)=2¢'(1) = g(1)f'(0)=2¢'(1) =




